

What Rule?

a. $\int x e^{x^2} dx$

$u = x^2$ $du = 2x dx$
 $\frac{1}{2} du = x dx$

$\int \frac{1}{2} e^u du =$

$\frac{1}{2} e^{x^2} + C$

b. $\int x \sin x dx$

$u = x$ $dv = \sin x dx$
 $du = dx$ $v = -\cos x dx$

$-x \cos x - \int -\cos x dx = -x \cos x + \sin x + C$

c. $\int \frac{x^2 - 4x + 7}{x^3 - x^2 + x + 3} dx$

$x^3 - x^2 + x + 3$ has a zero at $x = -1$
and so $(x+1)$ is a factor

$\int \frac{A}{x+1} + \frac{Bx+C}{x^2-2x+3} dx$

$$\begin{array}{r} x^2 - 2x + 3 \\ x+1 \overline{) x^3 - x^2 + x + 3} \\ \underline{-x^3 + x^2} \\ -2x^2 + x \\ \underline{+2x^2 + 2x} \\ 3x + 3 \\ \underline{-3x + 3} \\ 0 \end{array}$$

this is not factorable any further

$A(x^2 - 2x + 3) + (Bx + C)(x + 1) = x^2 - 4x + 7$

Thus,

$\int \frac{2}{x+1} + \frac{-1x+1}{x^2-2x+3} dx$

$= \int \frac{2}{x+1} - \frac{x-1}{x^2-2x+3} dx$

Can this be done by substitution?

$u = x^2 - 2x + 3$
 $du = 2x - 2 dx$

$\frac{1}{2} du = (x-1) dx$
yes

$= 2 \ln|x+1| - \frac{1}{2} \ln|x^2-2x+3|$

+C

if $x = -1$

$A(1+2+3) + 0 = 1+4+7$

$6A = 12$

$A = 2$

if $x = 0$

$2(3) + C(1) = 7$
 $-6 \qquad -6$

$C = 1$

if $x = 1$

$2(1-2+3) + (B+1)(2) = 1-4+7$

$4 + 2B + 2 = 4$

$2B = -2$

$B = -1$

